10

1072

1073

107

107

107°

1077

Ratio to Herwig 7.2.1 default
[N

0.5

7000 GeV pp
L B

ST X LR L LA LT 0T e O
b AL A IATRTXT el
lllllllll
iy Y

I I
PT (top) (Mtt < 450 dy < 0)

AN
Ty

_Top (parton level)

Rivet 3.1.10, = 3.4M events

--{4-- Herwig 7.2.1 default 4 o e T =
—A— Pythia 6.428 370 iy L -
—a— Pythia 8.308 default oo |
----- ¢ Sherpa 2.2.9 default UYL =
E|,|||||||||,|,||§ |§|.||E| E,|.|.| |E
:l T T T | T T T | T I:
n =
T IXDREOADADAAGASNRE ’
i ! |
u ¢ i
L ¢ _
| 1 1 1 1 " 1 : " 1 " 1 " 1 1

R
200

PR I
300

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


